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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

6-

Please leave ---------- directions for the housekeeper, so she knows what needs to be done.
1) authentic 2) restless 3) cursory 4) explicit

The islands ---------- their name from the sacred images found on them by the early
European navigators.

1) derive 2) Hlustrate 3) infer 4) grasp

People love the Presidio because it is in close ---------- to many area attractions, including

the famous aquarium, the SFB Morse Botanical Reserve and the Spanish Bay Resort
Golf Course.

1) relevance 2) proximity 3) accord 4) observation

This system, which for many years subsequently was regarded as authoritative, has been
subjected to ---------- criticism by later economists, and it is perhaps not too much to say
that it now possesses mainly a historical interest.

1) transient 2) feeble 3) vigorous 4) shaky

Although Norman could ---------- his sister’s story about her innocence to absolve her, he
refused to do so because he was angry at her.

1) corroborate 2) testify 3) fulfill 4) retain

When he came in to tea, silent, -===-cz--x , and with tear-stained face, everybody pretended
not to notice anything.

1) facetious 2) showy 3) mercurial 4) morose

Since color is absorbed as it travels through water, the deeper you are, the more likely
vou will notice a ---------- in the clarity of reds, oranges and yellows.

1) intensification 2) deception 3) reduction 4) competition

As the students argued, the teacher tried to ---------- them into silence with the threat of a
detention.

1) impose 2) condemn 3) condense 4) coerce

Teachers who consider cartoons and comic books ---------- to students’ literacy skills

often use class time to deride these media.
1) pertinent 2) harmful 3) conducive 4) indispensable
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10- Salt is valued not only because of its ---------- as a condiment and preservative, but also
because they are essential to the health of humans and animals.
1) variances 2) properties 3) predictors 4) temptations

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Being funny has no place in the workplace and can easily wreak havoc (11) ----------
an otherwise blossoming career. Of course, laughter is necessary in life. But if you
crack jokes (12) ---------- snide remarks at work, you will eventually not be taken
(13) ~=-mmmmm- . You will be seen as someone who wastes time (14) ---------- could better
be spent discussing a project or an issue. Additionally, many corporate-minded
individuals do not have the time to analyze comments with hidden meanings-they will
take what you say (15) ---—--—-- and as an accurate representation of your
professionalism in the workplace.

11- 1)on 2)n 3) at 4) for
12- 1) which they make 2) to be made 3) and make 4) then make
13- 1) by some others serious 2) serious by others
3) being seriously by others 4) seriously by others
14- 1) and 2) when 3) that 4) that it
15- 1) is absolute 2) as absolute 3) be absolute 4) that is absolute

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Noise 1s any sound that the human ear finds unpleasing and disruptive to
concentration. When annoying sounds become noise hazards is when that noise begins
interfering with communication and warning signals on the job and causes chronic
health problems. These hazards occur when workers are exposed to sounds greater
than 85 decibels, weighted over an eight hour shift. To give you an idea of what
exactly 85 decibels is: the rustling of leaves is typically 10 decibels, a normal
conversation is between 50-60 decibels, a chainsaw or drill produces 110 decibels
while a jet engine is near the top of end of the scale producing about 140 decibels of
sound. The number one cost effective engineering control used to reduce industrial
noise hazards is to make sure that all machinery being used is properly maintained.
Machinery where metal on metal contact is present should be lubricated regularly.
This type of ‘preventative maintenance’ can extend the life of machinery and save
production time from unexpected failures. In many cases, low level noise hazards can
be solved all together with proper machine maintenance. Limiting exactly how long
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17-

18-

19-

20-

workers are exposed to noise hazards is an administrative control that can greatly
reduce negative health effects. In addition, enclosing or Isolating is one way that a
little engineering combined with a little capital can result in the reduction or
elimination of a noise hazard. If there are large non-human operated machines in a
work area, when possible, move these machines away from workers or into less
populated rooms. Finally, using PPE is the last resort method to deal with a noise
hazards. It does not address the problem at the source but acts as a last line of defense
for your ears. Proper PPE to protect hearing includes earplugs and ear muffs, often
worn together. PPE should be used either in response to low level noise hazards or as a
temporary solution until the source of the noise can be controlled or modified.

The most economical approach to noise control is ---------- ;

1) using earplugs 2) preventive maintenance
3) limiting of worker’s exposure 4) isolation of noise source
Which on is closer to “administrative control” in meaning?

1) Managerial method 2) Engineering method

3) Obligatory method 4) Supervisory method

According to the passage which sentence is TRUE?

1) It is not possible to wear earplugs and earmuffs at the same time.
2) The loudest sound you can hear is the sound of a jet engine

3) Lubricant is used for minimizing friction.

4) The sound of falling leaves is typically 10 dB.

Which one is the best title for the passage?

1) Noise & Vibration 2) Loud sounds
3) Health effects of noise 4) Noise control
Wearning earplugs and earmuffs is -=--=----- i

1) the most perfect method for noise control
2) not a control approach

3) an administrative approach

4) the last suggested solution for noise control

PASSAGE 2:

Outbreaks have been identified in a number of different work environments: office
environment, meat-processing facilities, other factories, migrant work camps, fitness
centres, ships, other service-related occupations and transportation. The published
literature illustrates a small portion of the total number of outbreaks in the work
environment but demonstrates a preclusion towards outbreaks in specific
environments. Some studies report outbreaks in office settings, with primary
facilitators being in close proximity to an infected person. A number of studies
describe outbreaks in meat processing facilities where prolonged close contact with
co-workers, poor ventilation and crowded accommodation were identified as key
factors. Symptomatic cases of COVID-19 have been more prevalent among workers in
“public spaces” and the tourism industry when compared to non-working populations.

Shared accommodations involve extended time spent indoors in close proximity.
Multiple studies have demonstrated outbreaks arising from shared employer-provided
accommodations. Attack rates described in some of the studies were exceedingly high;
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23-

24-

25-

one study of workers residing on a fishery vessel reported an attack rate of 85.2%. Of
all confirmed COVID-19 cases in Singapore from April 2020, 86% were linked to
dormitories for migrant workers. Seroprevalence was highest (88.7%) among
individuals living in worker accommodation. However, one study reported that all
participants living in employer-provided accommodations tested negative for
antibodies.

“Mandated” work shifts and spacing of workstations have been instituted to
decrease workplace density. Quotas of office space occupancy have been established
to limit density and physical contact. Restrictions limiting social activities and all in-
person functions have been instituted for non-essential business. Staggered meal
breaks and shift work schedules have been recommended. Physical barriers and
adaptation of workspaces to minimize physical contact have been required by some
governments as a condition to reopen following workplace closures. Mask use and
safe physical distance guidelines have been widely recommended and at times made
compulsory.

All of following have been mentioned as reasons of outbreak in meat processing plant

EXCEPT ---------- X

1) long-term close contact with colleagues 2) touching contaminated meat

3) poor ventilation 4) populated setting

Which sentence, according to the passage, is NOT true?

1) The attack rate was 85.2% for the fish farm workers.

2) Most cases of Covid-19 in Singapore were migrant workers.

3) The COVID-19 attack rate in workers who lives in a shared place was high.

4) One of the most important causes of COVID-19 outbreaks in workplaces was employer-
provided accommodations

The word '""Mandated" in the first line of last paragraph means ---------- .

1) required 2) voluntary 3) shortened 4) planed

Which measures have been implemented to prevent COVID-19 in non-essential

occupations?

1) Isolation social distance

2) Restrictions limiting density

3) Quotas of office space occupancy

4) Restrictions limiting social all in-person functions

Which one is the best title for the Passage?

1) COVID-19 pandemics

2) Workplace safety

3) Infectious diseases in the workplace

4) Preventing and Mitigating COVID-19 at work

PASSAGE 3:

Expanding subway as an option of public transport can considerably help to alleviate
air pollution as well as traffic congestion. Alongside the myriad positive effects of
subway development, the workers involved in the construction projects are exposed to
several occupational risks. Although the widespread application of new technologies
in the subway construction industry has been greatly reduced noise pollution and
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vibration, air pollution is still a major problem in this industry. Due to the presence of
several emission sources and enclosed work environment, air pollution is one of the
most important occupational risk factors in subway construction projects. The emitted
pollutants are partially released into the ambient air that regarding long duration and
high spatial extension of the projects can seriously threaten public health; therefore,
although the expanding subway lines is one of the most effective long-term strategies
for controlling air pollutant emission, the projects especially in the construction phase
such as digging underground tunnels and construction of subway station are in turn
one of the sources of workplace and ambient air pollution. The main sources of air
pollutants in the subway construction phase include diesel engine exhaust (including
tunnel drilling equipment, trucks, and power generators) and particulate matter (PM)
emission through construction works such as drilling, excavation, and concreting
operations. The most efficient measures to reduce the occupational exposure and
environmental emission of the airborne PM in subway construction projects include
good maintenance of pollutant devices, installation of air pollution control equipment,
reducing the work hours, and providing particulate respirator for the project staff.

What is the most important cause of workplace air pollution in a subway construction project?

1) Enclosed work environment 2) Application of new technologies
3) Diesel engine exhaust emissions 4) Long duration of the projects
Which control measure is considered as a personal protective equipment?

1) Air pollution control equipment 2) Particulate respirator

3) Maintenance of pollutant devices 4) Reducing the work hours

Which sentence, according to the passage, is TRUE?

1) Ambient air pollution decreases during construction of subway.

2) Workplace air pollution in subway construction projects is unavoidable.

3) Noise pollution is the most important risk factor in subway construction projects.

4) The workers in subway construction projects are exposed to several occupational risks.
The diesel engine exhaust and ---------- are the main sources of air pollutants in the
subway construction phase.

1) PM emission through construction works

2) improper maintenance of pollutant devices

3) concreting operations

4) tunnel drilling equipment

The emitted air pollutants in subway construction projects can threaten ---------- ;
1) occupational health 2) ambient air quality
3) public and occupational health 4) long-term strategies
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